
Celestial Equator δ= 0º

0.6 kpc 0.4 kpc

0.2 kpc

O,B,A K M Name (M�, kpc)

Spica (11,0.08) 

12Peg
(6,0.42) 

α Cyg
(19,0.80) 

5 Lac
(5,0.51) 

V424 Lac (7,0.63) 

HR 8248
(6,0.75) 

HR 861
(9,0.64) 

V809 Cas 
(8,0.73) 

HR 3692 (12,0.65) 

145 CMa (8,0.70) 
VV Cep (11,0.59) 

V381 Cep 
(12,0.63) 

S Mon A (29,0.28) 
CE Tauri (14,0.33) S Mon B (21,0.28) 

q Car (7,0.23) w Car (8,0.29) 

NS Pup (10,0.32) 

ζ Oph
(20,0.11) α Lupi (10,0.14) 

λ Vel
(7,0.17) 

Antares
(11,0.17) 

+x

Vernal Equinox
α= 0 hr 

ε Peg
(12,0.21) 

ζ Cep
(10,0.26) 

θ Del
(6,0.63) 

ξ Cyg
(8,0.28) 

α Ori
(12,0.22) 

β Ori
(21,0.26) γ2 Vel

(9.0, 0.34) 

ο1 CMa (8,0.39)

σ CMa
(12,0.51)


